2017 High School American History Braille Ohio State Practice Test Key
	Item Number
	Correct Answer

	Part 1
1
	Not able to be rendered for paper/pencil tests.

	2
	Full 2 point credit must have ALL: B, D, E, G, J
Partial 1 point credit must have at least 3 correct selections.

	3
	Full 2 point credit must provide accurate explanation and reference both sets of data. Sample 2 point: “I support, there was an increase in cultural diversity:
• the percent of foreign born increased
• the foreign born population of latin Americans & Asians increased”
Sample 2 point: “The statement is correct when you consider that foreigners in our population grew 6% and latin-americans grew 30%.”
Partial 1 point credit provides accurate explanation but references only one set of data.

	4
	4 points: The response identifies two working conditions that labor unions opposed AND, for each working condition, identifies a related demand made by labor unions to change the working conditions.
3 points: The response identifies two working conditions that labor unions opposed AND identifies a related demand made by labor unions to change one working condition; OR The response identifies one working condition that labor unions opposed AND identifies two related demands made by labor unions
to change the working condition.
2 points: The response identifies two working conditions that labor unions opposed; OR The response identifies two demands made by labor unions to change working conditions; OR The response identifies one working condition that labor unions opposed AND identifies one related demand made by labor unions to change the working condition.
1 point: The response identifies one working condition that labor unions opposed; OR The response identifies one demand made by labor unions to change working conditions.

	Part 2
1
	C

	2
	D

	3
	C

	4
	C

	5
	Not able to be rendered for paper/pencil tests.

	6
	Not able to be rendered for paper/pencil tests.

	7
	Not able to be rendered for paper/pencil tests.

	8
	[Answer not provided in scoring rubric.]

	9
	C

	10
	A  AND  D

	11
	Full 2 point credit: C  AND  B
Paritial 1 point credit:  C  and part B response other than B

	12
	Not able to be rendered for paper/pencil tests.

	13
	[Answer not provided in scoring rubric.]

	14
	Not able to be rendered for paper/pencil tests.

	15
	[Answer not provided in scoring rubric.]

	16
	B

	17
	C

	18
	Not able to be rendered for paper/pencil tests.



